PP S :
A man pITﬁS a sled horizqnt'alfy exerting 64 pounds of force on the rope that is
tied to its front end. If the rdp@ makes an angle of 45° with the horizontal, find the

work done in moving the s\ed 35 feet (that’s a horizontal direction). Round to the
nearest 10® of a foot-pound.
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For the 3 conics below, put them into the form from which they can be graphed ,_? i ! Y
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or the complex number: z=1-V3i
’\e‘l‘) Graph the number in the complex coordinate system shown here

Alm

- 4+

.—2 . . .
F-e -0

-3-V

At o ol

.r ~ Find the modulus, | z| of z
| Z=f Ve Ve SVH o2 D
ST T et R i s
dartarecs Tom ] ‘f..am ! e
J ‘o= ﬁ’” =%

Fmd ¢ fifth power of the complex number/®
mf\xﬁ ebmp\dc\g /A.Jrg % Qwn G +i ?'bgwn'"' 2‘;“‘_‘_ %’ w G
e Z= b( C0855 * %\"\515253 ‘L )

cos 2573 + L sin 15% 32 (cos W + Lsin T4)
= 52(_\_1."5) u,-\-w»

Flnd the cube roots oéthe complex number: z
D 01,2 "o 4;‘"@‘
S +2é>) 2007 [ 33084 ik
W, @[m B 4 tsin 13———1] ~I—
. . Gwe/ +'2N1T 2 ((_DS‘!% 1-1,9“\“%
_ Qﬁ[msﬁvg*lém-\- \swn B —— 3 J
_\-\ W, = 3 '
EFT 1y
/: CWa AT + LS
¥ = 2’[% —%;ﬁl

AL Yoncd e A



#10.  Solvethefollowing 7 + \3i—1=0 Give appromimate walues,
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, 11, Write r =6 cos 0 in rectangular form. For full credit complete the square. 1 will
give you some options for.the final rectangular form, but remember this is not multiple choice!

a) (x-3Y+y*=9 b) xX+y*=6
©)  (x-6Y+(y-3Y=9 d  x-6+y'=3
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/12, Write x* + (y — 1)’ =1 in polar form. For full credit solve completely for r. ITwill
give you some options for the final rectangular form, but remember this is not multiple choice!

a) r=2sin®@ b) r=2cos® ¢ r=1 d) r=2+cosb
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Symmetey fr sm20
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12.  Graph the parametric equation; x=1 & y=t-3
a) Fill in the following table 1*

on (-0, o)
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For the 3 conics belpW, put them into the form from wﬁ?ch&ey’éan be praphed

easily (the form whigh ¢ learned to put each into by completing the square and manipulating ] I {—ﬁ }f (s
the equation), Then indicate if the conic is erbola, aprellipsepr a- parabolM
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Graph the parabola with the vertex, focus, pmgts on horizontal with the focus and

the direcvnf*ix labeled. A *h : s cre Yeore
Z——u— N 22 _; a E
Jhi =¥ (‘ ry )
4 R %
7 \
// \
Vv v VY
Find the followmg for the hyperbola (x+1¥F — y* =1
- _ - 16 .9 T\ 2, .+
oy . 3 { = \) T c_l. )

The center -\ 0)':::&—“_ e "t : . \ﬁ; -8 = 5

The foci m g { -/ e ﬂ

The asymptotes %» - 4(’( - ) 5‘ ‘S/q)(--s/uf \2

= By (e —EDD iy xS
Find the following for tthlh'pse: y—1* + xt =T (;O.JQT
bl?() 255 R
The vertices (y, 1) ¢ (0,-9 = A% S
/ ) ( ] \ {7—5]‘}é(.}‘5{§1‘)

RV

The center (,O, \ \ )

The points on the ellipse on the minor axis (o7

CSARTEAE-N



ﬂecw\s Q o ua,SS

\gss"a’\'\‘\'ﬁm
\D) m|>m2)\<g QFW\A m-t?m?_r \%‘-‘-lO‘\'dé}* -l)
() —{0
R - 3a
d=%3=2%

2 ml: O+ 7= (273

m1: \O+17% ?2’73:‘5%5
12%
= mz_-- \D't' %(3"l)

s )
3

= 3.2 30 e =t
o+ 2-2 S Prl=r153

[DJms y My My, \e =7 F’lném, .mz_%'m3 \§ s Bfhderm

1R=10+d (5-1)
g: A'I:’d % d:l

M, = 1ovi2 =\

mlz L+ =14

M:}: \L\{-\?_:“o

.




NES
o ,QZ C\a IS o‘cx-mas
N

I \Vrda\} = | ‘_’>SDJ a=t On=\2
SO - |+ 12
D_“dda\l = {4 % Sh._ }92( -
yfd&_t,:\d\ 2+ 3 = W -\ _
. .2 (78]

W dey =\ ¥ 243¢ 4 |
® Sequence \% cart e e L,J/ a=1¢ d-=1\

l

hQ,TV\‘\‘(fES\' ?(Db\e/m (S \%03\;,5 {/ gbﬂ‘y‘

\ ﬁ i Qﬂi_
re (20) (%) (1) = 30X
3o 2y ()Y (W)= s x!
o (0) DT w060 <

25

E)&m one. ond terpn 0f (X2 - 7

H# 34 eds 5 ,
’ 25 2 i Ay — — g o 47

(!)(X)()()"Zb)(v.}:/j/‘7

K Remembepr nd is “n-t” 74




#\Tokc:\ﬂon wS abeumaf

@ 21usus..

l A 23
Q. + \ZID + l_‘b_ + [
\O lO’DOO lgoeocoo
ﬁw§w
vty o

2

= \2 =
= 25 e 125 _ 0("_5 g

|D,po0 \0, 000,000 losC

- (L
\ 000

:L(\F\nll—c Swem c-(- Geo mwednic Sec\\@nqe_

\25 25"
\ - | == {}‘S'ED 7919 /op€0 777
: /200

_ 25 -

= === Which esen?é’

9% 0 repr
0.0/25/25 ..

Then add into %

20, 25 |
1o 9490 o



o2 A"}() ALY

/b(:’)hﬂ)
L Z

DL)‘LB [ X’(U\x’. 30 PUQ)~

o sjmﬁmc) i/ | g,“.

5 R\ *rii?’rl LR ﬂﬂmy‘”i
\—-———-\/WM_:.,:..,.:- T :

P)\i \"‘\1)20\’\\«»
Al()ﬁ’l‘r -‘r)

— z___

"i (aio—rl\)
= )Zq(aﬁa.f—l-)ﬂr (S,h*?)*Z\)Z

2. (&v\f?
5A€ ’r\’)wz‘r\u W‘

!

2 _ Z
Buernr tl@e o P
| < $o W frem

PR



	7_T3b
	deMoirvesT2P2
	10_12_T2
	symmetryBookProb
	symmetryofPolar
	12_EC_T3a
	8_9_T3a
	9_11_T3a
	means
	binomialthm
	fractiontodecimal
	induction

